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	.1 ��������

��������
������
���������	��� 
 
 ���������	
����
���������������
������� (total plate count) (���&������ 
��������
, 2539) ��,����-������� 
   1.  �0����	�1-������-�2���3��4�������5�6	6-�
 ��1- 0.75% NaCl ��<�3
-����42����=�3-���� 
   2.  �>	�����-�2����=?@�	�1-���	�A�-����42���2��B 1 ��������� ��C����	D��	E1�- 
-����42���� 3 ���	D��	E1�- 
   3.  	�-����	D��	E1�- plate count agar (H2����� autoclave &�3� &����-���J@��
������ 45 L 50 -�M�	N�	N��4) ��C����	D��	E1�-������ 15 L 20 ��������� H4�C�3	,3����              
O�����	�1=-����	D��	E1�-C�&������ &�����	,P���Q��� &��&�����	,P���Q��� &���� 5 
����  
   4.  ��������<�3C�3&,P� ���5���	D��	E1�- �0�<�52���=-���J@�� 35 L 37 -�M�	N�	N��4               
��� 24 L 48 E�=�O�� ��5O
O���C����	D��	E1�-&���0�<�
0���������������������
�������              
C����-�2�� 
 
	.2 ��������

��������
�����!��"���� 
 
 ���������	
����
��������4�
&���� (yeast and mold count) (���&������ 
��������
, 2539) ��,����-������� 
   1.  �0����	�1-������-�2���3��4�������5�6	6-�
 ��1- 0.75% NaCl ��<�3
-����42����=�3-���� 
   2.  �>	�����-�2����=?@�	�1-���	�A�-����42���2��B 1 ��������� ��C����	D��	E1�- 
-����42���� 3 ���	D��	E1�- 
   3.  	�-����	D��	E1�- potato dextrose agar (H2����� autoclave &����-���J@��
������ 45 L 50 -�M�	N�	N��4 &��H2��������5C�3��
2�
���	�A�����2�������� 3.5              
�3��4������� 10% tartaric acid &�3�) ��C����	D��	E1�-������ 20 L 25 ���������                   
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H4�C�3	,3����O�����	�1=-����	D��	E1�-C�&������ &�����	,P���Q��� &��&�����	,P���Q��� 
&���� 5 
����  
   4.  ��������<�3C�3&,P� �0�<�52���=-���J@���3-� ��� 3 L 5 ��� 40����5��4�
 &�� 5 L 7 ��� 
40����5�� ��5O
O���C����	D��	E1�- &�3��0�<�
0�������0������4�
&����C����-�2�� 
 
	.3 ����$�������$����
%&�'���
������ 
 
 ���
0�������0����	E1�-���������
 (
������
J�
��E�D�Y��H���J��Z
, 2549)  
�0�<�3������ 
   1.  ������=�0����	E1�-���������
	���[-�@2C�E2�� 25 L 250 O
O����2-���	D��	E1�- 
  ?3����	D��	E1�-���C������\=� ������-�2����=�0�C�3	�1-��� (dilution) ����5
	����������0����O
O���-�@2����2�� 25 L 250 O
O��� C�3�0��0������=��5<�3����
2�	]��=�&�3�              

@��3��&6
	�-�
���	�1-��� (dilution factor) 
  ?3������-�2����=�0�C�3	�1-��� 2 ����5 ��=���������0����O
O���C����	D��	E1�-                
-�@2����2�� 25 L 250 O
O��� C�3��5�0�������� 2 ����5 �0�
2���=��5<�3,-�&�2������5
@��3��            
&6
	�-�
���	�1-��� &�3���-����42��
���&���2��,-�
2���=4@��2-
2���=�=0� ?3�<�2	��� 2 	�2�                
C�3�0�
2���=<�3������� 2 ����5 ����
2�	]��=� &�2��������2� 2 	�2� C�3������
2���=�=0���2� 
   2.  ������=��	E1�-���������
	���[�3-���2� 25 O
O����2-���	D��	E1�- C�3������H�                
	�A�
2�������=��5<�3�������0�C�3	�1-����=0���=4�� (	,3�,3������=4��) �0��0������=��5<�3��                 
��
2�	]��=�&�3�
@��3��&6
	�-�
���	�1-��� O���������2�	�A�
2������� (est.) 
   3.  ������=<�2��	E1�-���������
	���[	�� C�3������H�	�A�
2��3-���2�
2�,-�����0�C�3               
	�1-����=0���=4�� O���������2�	�A�
2������� (est.) 
   4.  ������=��	E1�-���������
	���[�����2� 250 O
O����2-���	D��	E1�-  
   ?3�4����?��5<�3������� C�3�0��0������=��5<�3����
2�	]��=� &�3�
@��3��                 
&6
	�-�
���	�1-��� O���������2�	�A�
2������� (est.)  
   ?3��0����	E1�-���������
��=	���[�������5����0�C�3	�1-���4@���=4�� (	,3�,3��3-�
��=4��) -�@2����2�� 4 L 10 O
O����2-�����	N���	��� C�3��5�0�������������
C�D1����= 12 �����
	N���	��� (��5C�&���-� 6 �������=������ &��C�&������ 6 �������=������) ��
2�	]��=��2-
�����	N���	��� 
@��3���0����D1����=,-����	D��	E1�-������� &�3�
@��3��&6
	�-�
���	�1-��� 
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   ?3��0����	E1�-���������
��=	���[�������5����0�C�3	�1-���4@���=4���������2�               
10 O
O����2-�����	N���	��� &�2�������3��4����&�3�4����?��=����5<�3 C�3��5�0����               
���D1����=��=	�A����&��,-��0�������������
�������	D��� 4 �����	N���	��� ��
2�	]��=��2-�����
	N���	��� 
@��3���0����D1����=,-����	D��	E1�-������� &�3�
@��3��&6
	�-�
���	�1-���              
O����=����5����0�C�3	�1-�����=�=0���2����� C�3������	�A� too numerous to count ��1- TNTC 
   ?3��0����	E1�-���������
��=��5��
2�	��� 100 O
O����2-�����	N���	��� C�3������
H�	�A�
2������2�D1����=,-����	D��	E1�-
@��3�� 100 
@��3��&6
	�-�
���	�1-���4@���=4�� 
   5.  ������=C����	D��	E1�-�� spreader ?3��0�	�A��3-���5 C�3��5O
O�����= spreader 
	�A� 1 O
O��� &�2����� spreader �����2� 25% C�3�������2� spreader ��1- SPR 
   6.  ������= 	��������	�de-���1-	������H��D��� C�3������H��2� laboratory 
accident ��1- LA 
  C����������H� C�3�i�
2���=
0����<�3C���2��,-� CFU/ml ��1- CFU/g                
C�3��	�,���40�
�[	D��� 2 ��� ?3����	�,�0�&��2���= 3 ��
2������2� 5 C�3�i����	�,�0�&��2���= 2               
C�34@�,\�� 1 
2� &�2?3����	�,�0�&��2���= 3 ��
2��3-���2� 5 C�3�i�����<� &��?3����	�,�0�&��2���= 3           
��
2�	�2���5 5 C�3�i�,\�� ?3����	�,�0�&��2���= 2 	�A�	�,
�= &��C�3�i����� ?3�	�A�	�,
@2 
 


